PRIMARY ENDINGS (with tense formatives and conn. vowel)

Primary Endings

ACTIVE

Middple/Passive

-uoit
-0l

—TOlL

-uebo
-o0¢e
-VTo

Present Tense

ACTIVE

Helpful Hints
e Stems ending in vowels will

contract with verb endings.
When this happens, a
circumflex will be over the
new ending.

Future Tense

Active ad Middle
ACTIVE Middle

-COoOL

—GTJ

—OETOL

-oouedbo

-oeofe

-00ovVTolL

15t Fut Passive
PASSIVE
-Onoopon
-0non
-Onoetoit
-Bnoouebo
-Onoecbe

-Onoovrton

2" Fut Passive
PASSIVE
-Noouot
_ncn
-NGETOL
-noouedo

-noeocBe

—NoovVTol

Helpful Hints

e Tense formative is

g in act/mid and
@no/no in passive

e Stems ending in

liquids in act/mid
will lose the tense
formative and look
like present
contract verbs

Perfect Tense

ACTIVE
KO

~KOIG

-0ool

—xe[v]

~KOEV

-KOTE

-00¢

-xoot[v]

-VToll

Helpful Hints
The first syllable will
reduplicate making
this tense easy to
spot.

There is no tense
formative (ka) in m/p
voice.



SECONDARY ENDINGS (with tense formatives and conn. vowel)

ACTIVE M/P
-unv

Secondary Endings

| |
a
I O 8

-uebol
-o0¢e
-V10

Imperfect Tense

Helpful Hints
e 1stsgand 3" pl
have the same

form. Context will
dictate parsing

Aorist Tense

1st Aorist Active/Middle 1st Aor Passive 2nd Aor Passive Helpful Hints
ACTIVE MIDDLE PASSIVE PASSIVE e 2nd Agrist
active/middle
looks just like
the imperfect.
Must recognize
the stem
change!
Liquid stems

lose the o in the
active/middle

Pluperfect Tense

Helpful Hints

e The first syllable
will reduplicate
AND the augment
may be present

1st ACTIVE 2nd ACTIVE

The tense
formative (k) drops
to form the 2nd
Pluperfect Active

~KEWEV
~KELTE

-00¢ This tense is rare
(<90x in NT)

—KELOUV -VT0




